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1) TRADE THEORY

Question No. 1/ Question ID 8 Marks: 2.00

What is current?
FNC 182
(A) O Flow of Resistance (Chosen Option)

UfoRIY &1 UdTg (Chosen Option)
(B) O Flow of Electrons (Correct Alternative)

T4l &1 ya1g (Correct Alternative)

(C) O Flow of Neutrons

REECIREIN

oo mare \WWW.GlODalItI.Org

Question No. 2 / Question ID 271 Marks: 2.00
Which of the following options is the best for generating random integer 0 or 1?

grefasd quids 0 I1 1 I d3A & ol g o q o1 1 fadhey qa ora1 82

(A) O (int)Math.random ()+1
int)Math.random()+1

(
( )
(B) O (int)Math.random () (Chosen Option)
( )
(

int)Math.random() (Chosen Option)

int)(Math.random ()+0.2)

(int)(Math.random()+0.2)

(D) O (int)(Math.random ()+0.5) (Correct Alternative)
(int)(Math.random()+0.5) (Correct Alternative)

Question No. 3 / Question ID 127 Marks: 2.00
Which server load reduces by proxy server?

et TaR e ok e &I HH Bl 82

(A) O Original server (Correct Alternative)
Original server (Correct Alternative)

(B) © Domain server (Chosen Option)
Domain server (Chosen Option)

(C) O Proxy server
Proxy server

o= \WWW.glObalitl.org

Question No. 4 / Question ID 50 Marks: 2.00

A software, coding of which is available freely on internet and is open for user for further use is
called .

g, HEAT B
(A) O free software
free software

TP AFeadR, ot SIS gex-ec R IR FU F Iuas § 3R M & IuANT & fore Sudiasdi & fore gar




(B) O open source software (Correct Alternative) (Chosen Option)
open source software (Correct Alternative) (Chosen Option)
(C) © community software
community software

(D) O unlicensed software
unlicensed software

Question No. 5/ Question ID 234 Marks: 2.00
What is the another name called PDoS?
PD0S & GIRT -1 &1 872
(A) O Smurf attack

(B) © Non technical attack
BiG]
(C) O Brute force attack (Chosen Option)
§C B 3¢ (Chosen Option)
(D) O Phlashing (Correct Alternative)
[T (Correct Alternative)

Question No. 6 / Question ID 193 Marks: 2.00
Which of the foIIowmg is an logical operator?

g B A o 1 Aifolepd 3iTaeR g2
(A) O

+ +

C
O
1

(C) O & (Chosen Option)
& (Chosen Option)

(D) O && (Correct Alternative)
&& (Correct Alternative)

Question No. 7 / Question ID 184 Marks: 2.00
Which variable declared outside a function in Javascript?

SATRpE & U ThaR & ST6R DI A1 RS aifvd foar mar?
(A) O Local variable (Chosen Option)
didd dRUEd (Chosen Option)
(B) O Function variable
PN
(C) O Global variable (Correct Alternative)

IGICK] %qua?r (Correct Alternative)
(D) O Object variable
3ffsoide

Question No. 8 / Question ID 159 Marks: 2.00
Which is a statement terminator in javascript?
SaTf&pE & Ueh WeHc ciiHeR ®F A1 8?
(A) O ; (Correct Alternative)
; (Correct Alternative)
(B) O .. (Chosen Option)
. (Chosen Option)




Question No. 9 / Question ID 72 Marks: 2.00
How Cells are named in MS Excel?

MS Excel H HIfRHG137 &1 1 63 faam oirar g2
(A) O Special Character
fa=iy quf

(B) O Alphanumerically (Correct Alternative)
(Correct Alternative)
(C) O Alphabetically
quIhH

(D) O Numerically (Chosen Option)
TJATIIR (Chosen Option)

Question No. 10 / Question ID 106 Marks: 2.00
Name the tab use to insert Block Arrows in slide.
wss o s W ST & ot IUTRT fhT §F ard &9 &7 A/ S|
(A) O Data Tab
Tl |

(B) O Insert Tab (Correct Alternative) (Chosen Option)
g (Correct Alternative) (Chosen Option)
(C) O Developer Tab

SIITWR ¢§ . =
oo \WWW.globalit

e .globaliti.or
Question No. 11 / Question ID 275 Marks: 2.00

Array data access using )
ST USRIy ! DT JUART s W B
(A) O variable
variable
(B) O index (Correct Alternative)
index (Correct Alternative)
(C) O operator
operator

(D) O pointer (Chosen Option)
pointer (Chosen Option)

Question No. 12 / Question ID 99 Marks: 2.00
Which dialog box in Power Point allows to change slides automatically in a period of time?
TR WIEe H &I 1 IaIG SIa YHY &1 3fafd & Waferd U I WS Jea- P SJAfd T 87
(A) O Slide animation (Chosen Option)
RNIES] Q-_-ﬂﬂ?ﬂ (Chosen Option)
(B) O Action setting
Edl

(C) O Slide transition (Correct Alternative)
TATSS XIIdRUT (Correct Alternative)
(D) O Custom animation

ga P 3ATFU Y

Question No. 13 / Question ID 78 Marks: 2.00
Which one of the following will starts with “=” sign in Excel 20107
faferad & & S AT Excel 2010 § "=" foFg & 1Y & &2
(A) O Text (Chosen Option)
RS (Chosen Option)




(B) O Data
sal

(C) O Numbers
TR
(D) O Formulas (Correct Alternative)
YA (Correct Alternative)

Question No. 14 / Question ID 215 Marks: 2.00
What type of chart is good for single series of data?
ST 31 Rpra RS & 1w ford IR &1 91¢ 317 57
(A) O Cone Chart

HF A
(B) © Column Chart (Chosen Option)
Hiay a1e (Chosen Option)
(C) O Pie Chart (Correct Alternative)
mé e (Correct Alternative)
(D) O Line Chart
NIEREIS

Question No. 15/ Question ID 204 Marks: 2.00
Which of the following shows the address of the current selection or active cell in MS Excel?

frofaRad § 9 ®F a1 Ty TRid § Sic RideRr a1 tfded I &1 UdT i@ g2
(A) O Formula Bar
SEREL
(B) O Column Heading
DI gf ST
(C) O Row Heading
A e
(D) O Name Box (Correct Alternative) (Chosen Option)
GICEIC: ] (Correct Alternative) (Chosen Option)

Question No. 16 / Question ID 140 Marks: 2.00
Which is used to publish the webpage to a web hosting server?

39 BIRETT R ) TS YBTRIT B P U fhgent Iua fosar Sirar 872

(A) O Php
Php
(B) O Blogger
Blogger
(C) O Kompozer (Correct Alternative)
Kompozer (Correct Alternative)
(D) O Http (Chosen Option)
Http (Chosen Option)

Question No. 17 / Question ID 261 Marks: 2.00
Which of the following is used to interpret and execute Java Applet Classes hosted by HTML?

HTM%Q’RTW%HWJavaApmet Classes P! e 3R fAsa1e & forg g & ¥ forges SuaT foan
I 82




(A) O Appletwatcher (Chosen Option)
Appletwatcher (Chosen Option)

(B) O Appletshow
Appletshow

(C) O Appletscreen
Appletscreen

(D) O Appletviewer (Correct Alternative)
Appletviewer (Correct Alternative)

Question No. 18 / Question ID 96 Marks: 2.00
Which key is used to stop a power point presentation?
TR WISC UolcRM $I A & 1T fordt b1 o1 SUaRT o STl 82
(A) O Enter
Enter
(B) O ESC (Correct Alternative) (Chosen Option)
ESC (Correct Alternative) (Chosen Option)
(C) O Tab
Tab

(D) O Ctrl
Ctrl

Question No. 19 / Question ID 157 Marks: 2.00
The pages that could not be modified are called .
d gx fore Infad et foan o gaban 7, 39 FHead gl

(A) O flash

(B) O dynamic (Chosen Option)
(Chosen Option)
(C) O static (Correct Alternative)
(Correct Alternative)
(D) O immovable

Question No. 20 / Question ID 266 Marks: 2.00
is not a flow control statement in Java.
19T H Ul dheld WeHe Rl g
(A) O Continue
Continue

(B) O Exit () (Correct Alternative)
Exit() (Correct Alternative)

(C) O Break

D) O izzetzl:n (Chosen Option) WWW u g I O b a.I Itl u O rg

Return (Chosen Option)

Question No. 21 / Question ID 54 Marks: 2.00
Which one of the following is text styling feature of MS Word?

fofefad # 9 &9 I MS Word & ¢Re WTIgferT fa=ivdT g2




(A) O Word colour
e BT AT
(B) O Word art (Correct Alternative) (Chosen Option)
Qe Pl (Correct Alternative) (Chosen Option)
(C) O Word fill
Rloq HIAT
(D) © Word font
g Bl

Question No. 22 / Question ID 137

What is the full form of CSS?

CSS &1 JUf =0 &7 g2

(A) O Computer Style Sheet (Chosen Option)
Computer Style Sheet (Chosen Option)

(B) O Cascading Style Sheet (Correct Alternative)
Cascading Style Sheet (Correct Alternative)

(C) O Customized Style Sheet
Customized Style Sheet

(D) O Cascading System Style
Cascading System Style

Marks: 2.00

Question No. 23 / Question ID 35
Statistical analysis packages have much in common with

Tiferea v dpsi § & 91y 9gd AT B

(A) O spreadsheet packages (Correct Alternative)
(Correct Alternative)
(B) O design packages
BEax

(C) O paint packages
Uc U

(D) O presentation packages (Chosen Option)
(Chosen Option)

Marks: 2.00

Question No. 24 / Question ID 246

Marks: 2.00

Which of the following is defined as an attempt to steal, spy, damage or destroy computer systems,

networks, or their associated information?

ﬁgﬁr@ﬁﬁ@fﬁ Ried, Acad a1 374 Yefid SHSRI I g, SR B, ffciRd - a1 9y

mﬁ%m%wﬁuﬁmf&amw%?
(A) O Cryptography
Cryptography
(B) O Digital hacking (Chosen Option)
Digital hacking (Chosen Option)

(C) O Cyber attack (Correct Alternative)
Cyber attack (Correct Alternative)

(D) O Computer security
Computer security

Question No. 25/ Question ID 71

To copies the selected items in open source office, which key is use?

SN TR 3Py H Adide s ISR P HIUT B3 b U {59 ot T TN fobar Srar 82

(A) O Ctrl + C (Correct Alternative) (Chosen Option)
Ctrl + C (Correct Alternative) (Chosen Option)
B) O Ctrl+0O
Ctrl+ O
C)O Ctrl+P
Ctrl+ P

Marks: 2.00




(D) O Ctrl + Shift + C

Ctrl + Shift + C

Question No. 26 / Question ID 279

The class which inherits the properties of other is known as
Ig ¥ oI gER & T[0T ! faRTd W U &l §, 39
(A) O

Superclass (Chosen Option)
Superclass (Chosen Option)

Parent class
Parent class

Subclass (Correct Alternative)
Subclass (Correct Alternative)

None of the above

T A PIS o 7T

% =0 T ST ST &

Marks: 2.00

Question No. 27 / Question ID 173

Which is a valid js code to sort element of an array trade?

fre W 2T F T B! Wi B & T T IY ALY BIS B A1 872

(A) O

Sort.(trade);
Sort.(trade);

Trade.sort:
Trade.sort:

Trade.sort(); (Correct Alternative)
Trade.sort(); (Correct Alternative)

Sort.trade(); (Chosen Option)
Sort.trade(); (Chosen Option)

Marks: 2.00

Question No. 28 / Question ID 262
Which of the following is not a primitive data type?

frafifad & 4 sH-a1 fifafes Seresu gt 82

(A) O
(B) O
(€)O
(D) O

Byte

Byte

Short (Chosen Option)
Short (Chosen Option)
Enum (Correct Alternative)
Enum (Correct Alternative)

Int
Int

Marks: 2.00

Question No. 29 / Question ID 112
What is full form of DDL?
DDL &1 quf &9 &1 82

(A) O

Data Distinct Language
Data Distinct Language

Data Describe Language (Chosen Option)
Data Describe Language (Chosen Option)

Definition Data Language
Definition Data Language

Data Definition Language (Correct Alternative)
Data Definition Language (Correct Alternative)

Marks: 2.00

Question No. 30 / Question ID 258
The World Wide Web is a massive collection of web sites, all hosted on

IeS A13S 39, 39 WL B TP AU TIR L, @ WeRe e 8

(A) O

computers (Correct Alternative)
P (Correct Alternative)

Marks: 2.00




B) O ipternet

(C) O Anetwork (Chosen Option)
Udh Jead (Chosen Option)
(D) O World Wide Web
Ics dIsS a9

Question No. 31 / Question ID 122 Marks: 2.00
Which kind of firewall is connected between the device and network connecting to Internet?
fEarEy 3R exe ¥ Hae g Nl Acadh & aId [y UHR &1 BRRAA Hac gl 872
(A) O Hardware firewall (Correct Alternative)

TS AW WRRard (Correct Alternative)
(B) O Microsoft firewall
HTSh G0 ThRRdld
(C) O Inspection firewall
BRRA
(D) O Software firewall (Chosen Option)
TireddR HIERAId (Chosen Option)

Question No. 32 / Question ID 170 Marks: 2.00
Which object method is used to return the value rounded down to its nearest integer?

for sifecige faftr &1 IuaiT S Mdhean SfavTd & o Md Yoo & a0y HR- & g faar ST g2
(A) O ceil()

ceil()
(B) O floor() (Correct Alternative)

floor() (Correct Alternative)
(C) O abs() (Chosen Option)

abs() (Chosen Option)
(D) O round()
(

round()

Question No. 33 / Question ID 259 Marks: 2.00
The web server (computer) where your web site's html files, graphics, etc. reside is known as the .

a9 FaR (HER) ST 3BT 39 ASE B! htm| TS, AHRT 3M1fe I8d §, 39 & &g & ST oIl ¢ |
(A) O web local host
web local host

(B) O web host (Correct Alternative)
web host (Correct Alternative)

(C) O web server (Chosen Option

ion) ., =
ooz WWW. gloObaliti.org

EEEREIEET]

Question No. 34 / Question ID 135 Marks: 2.00
What is the first tag in html document?
htm! STagHe & UG &1 &1 g7
(A) O <title>

< title >
(B) O < html > (Correct Alternative)
< html > (Correct Alternative)
(C) O <head>
< head >
(D) O </html > (Chosen Option)
< /html > (Chosen Option)




Question No. 35/ Question ID 86
Which type of chart is not use in MS Excel?

MS Excel & {5 UHR & I1¢ BT SUANT 78! foan Sirar 82

(A) O Circle (Correct Alternative)

(Correct Alternative)

(B) O Surface
WY

(C)O Pie

o

(D) O Bubble (Chosen Option)

gddcll (Chosen Option)

Marks: 2.00

Question No. 36 / Question ID 17
What is the extension of notepad file?

TIcUs HIsd &I TaHCT T idl 872

(A) O
(B) O

.doc (Chosen Option)
.doc (Chosen Option)

il

il

.txt (Correct Alternative)
.txt (Correct Alternative)

Adll
Adll

Marks: 2.00

Question No. 37 / Question ID 113
What is full form of DML?
DML &1 quf &1 &1 87

(A) O

Data Multiplication Language

Data Multiplication Language

Data Modify Language

Data Modify Language

Data Mapping Language (Chosen Option)
Data Mapping Language (Chosen Option)

Data Manipulation Language (Correct Alternative)
Data Manipulation Language (Correct Alternative)

Marks: 2.00

Question No. 38 / Question ID 205

What is the symbol use in a formula to make a cell reference absolute?

T IBH DI TSIege 9 & fore widar & forg Rigad &1 SuanT foar Sirar g2

(A) O
(B) O
(€)O
(D) O

&

&

# (Chosen Option)

# (Chosen Option)

$ (Correct Alternative)
$ (Correct Alternative)

@
@

Marks: 2.00

Question No. 39 / Question ID 129
What is BIOS?
BIOS T 87

(A) O
(B) O

Hardware
Hardware

Middleware (Chosen Option)
Middleware (Chosen Option)

Marks: 2.00




(C) O Firmware (Correct Alternative)
Firmware (Correct Alternative)

(D) O Software

Software
Question No. 40 / Question ID 187 Marks: 2.00
Serrver-side JavaScript is called javascript.
gdI-I5 S ANy &l AP Y Hgl Sdl g

(A) O Navigator (Chosen Option)
(Chosen Option)
(B) O LiveWire (Correct Alternative)
AIRddRIR (Correct Alternative)
(C) O Microsoft
EIEEIR I

(D) O Native

Question No. 41 / Question ID 223 Marks: 2.00
Which type of E - Commerce is tenders and submission of application?
E-HITY [ UHR &1 fAfder 3R fae Tgd H3T 872
(A) O g2c (Chosen Option)

g2c¢ (Chosen Option)
(B) O b2c
b2c
(C) O 92b (Correct Alternative)
g2b (Correct Alternative)
(D) O b2b
b2b

Question No. 42 / Question ID 243 Marks: 2.00
Which of the following is not a cybercrime?
frafafad & 9 S a1 argeRehd T8l 82
(A) O AES (Correct Alternative)
AES (Correct Alternative)

(B) O Malware

(€)O mthe'\ﬂiddle WWW-gIObaIiti-Org

< are R

(D) O Denial of Service (Chosen Option)
@Tﬂﬁtﬂ'l'sf (Chosen Option)

Question No. 43 / Question ID 114 Marks: 2.00
What is the need for our query to execute successfully on an existing view?
fITHM T30 WR AR &< B IHAdIgdd FTfed B B ol ATaadhdl 872
(A) O We should have a SELECT privilege only on the specified table
We should have a SELECT privilege only on the specified table
(B) O We must have a SELECT privilege on the view (Correct Alternative)
We must have a SELECT privilege on the view (Correct Alternative)
(C) O The specified table must contain data
The specified table must contain data

(D) O The specified table must be in the same database or schema (Chosen Option)
The specified table must be in the same database or schema (Chosen Option)

Question No. 44 / Question ID 87 Marks: 2.00
Which would you choose to create a bar diagram?

IR STARIH fohdic B & fofg 311y fosgant 99 H91?




(A) O Insert, Chart (Correct Alternative) (Chosen Option)
) e (Correct Alternative) (Chosen Option)
(B) O Format, Chart

(C) O Edit, Chart

(D) O Tools, Chart
¢, d1c

Question No. 45 / Question ID 23 Marks: 2.00
Name the tool in control panel which we can change the system date?
Held O d H I ¢ &1 91 9d18 FoRd g4 Riked &1 aRRG 9 Iahd 872
(A) O System
Rreen

(B) O Fonts
(C) © Date and Time (Correct Alternative) (Chosen Option)
fafy ik gwa (Correct Alternative) (Chosen Option)
(D) O User Account
33 .

Question No. 46 / Question ID 176 Marks: 2.00
Which one enables the hosting providers to manage multiple domains on a single server?
B I TP BT TTAIST Pl Th R WR Hs S I H Y&l I 572
(A) O Network server (Correct Alternative)
Tav (Correct Alternative)
(B) O Database server

(C) O SAQL server
T 7 Td R

(D) O Web server (Chosen Option)
CERIGTY (Chosen Option)

Question No. 47 / Question ID 213 Marks: 2.00
Which tab on the ribbon will you find the Conditional Formatting option?
3{TAD! B IR WIS BT AR e & e ¢q R e
(A) O Insert Tab

(B) O Formula Tab (Chosen Option)

tI?IV'J:ET e (Chosen Option)

(C) O Data Tab
Sarced

(D) O Home Tab (Correct Alternative)
LU g (Correct Alternative)

Question No. 48 / Question ID 59 Marks: 2.00
What is the purpose of cover page?
IR U HT I8 HT 82
(A) O Allows to fill title, author, date and other information (Correct Alternative)
2w, dE®, feie iR 3 STH®RT 4R @1 3rgAfd 34T 8 (Correct Alternative)
(B) O To view the mailed list
e 1 TS Gal o o forg

(C) O Fills the list of people intent to mail

AT B b IS Y AN bl T aRaAT ®




(D) O Contains details of the documents (Chosen Option)
xS & faRor TNfid § (Chosen Option)

Question No. 49 / Question ID 49 Marks: 2.00

OSS stands for .

0SS &1 3 § |

(A) O Open System Service
Open System Service

(B) © Open Synchronized Software
Open Synchronized Software

(C) O Open System Software
Open System Software

(D) O Open Source Software (Correct Alternative) (Chosen Option)
Open Source Software (Correct Alternative) (Chosen Option)

Question No. 50 / Question ID 256 Marks: 2.00

What does PaaS stands for?

PaaS &1 F1 31 g2

(A) O Platform as a Service (Correct Alternative)
Platform as a Service (Correct Alternative)

(B) O Parallel as a Service
Parallel as a Service

(C) O Platform as a Software (Chosen Option)
Platform as a Software (Chosen Option)

(D) O Parallel as a Software
Parallel as a Software

2) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 497 Marks: 2.00
It is best to ask questions when asking questions.
Y USd 99 Y IS qa 351 ¢ |
(A) O Rude
S
(B) O Personal
GRIESEY
(C) O Sensitive (Chosen Option)
Hde-=ia (Chosen Option)

(D) O Open and close ended (Correct Alternative)

3N TS TSl TSS (Correct Alternative)

Question No. 2 / Question ID 376 Marks: 2.00
Goals are categorized as
gl Bl & =0 § Fifepd fobar T §

(A) O inner and outer
TR 3R SRR

(B) O good and bad (Chosen Option)
HST \3?N§QT (Chosen Option)

(C) O short-term and long-term (Correct Alternative)
AHIeD MR Sdwifers (Correct Alternative)

(D) O intrinsic and extrinsic

3R 3R Sl

Question No. 3 / Question ID 319 Marks: 2.00

W?cﬁ & ﬁﬂﬁl@ﬁ Jc ol Iifes ared # fh ¥ TafRd B | “teacher / school / worked / she / a / as”

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”




(A) O Worked she as a school teacher
Worked she as a school teacher

(B) O She worked as a school teacher (Correct Alternative)
She worked as a school teacher (Correct Alternative)
(C) O School worked as a she teacher
School worked as a she teacher

(D) O She teacher worked as a school (Chosen Option)
She teacher worked as a school (Chosen Option)

Question No. 4 / Question ID 340 Marks: 2.00
Which one of the following is a describing word?
frafed § I $H-91 U quHIeTS Wsg 8?
(A) O eat (Chosen Option)
LGIEIRGIR]| (Chosen Option)

(B) O soup

(C) O repair
HIHd

(D) O hot (Correct Alternative)
TIRH (Correct Alternative)

Question No. 5/ Question ID 374 Marks: 2.00
Gesture “biting nails” shows

"TRGA DIl dTdl §Id-HId........ccoeneee EQﬁaT % -

(A) O defensiveness

(B) O confidence
STHATIYT
(C) O insecurity (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O boredom

Question No. 6 / Question ID 365 Marks: 2.00
Which of these statements is true?

70 ¥ DI 9T HYT I 82

(A) O Some cities have more opportunities than others for certain job roles. (Correct
Alternative)

O e W PO NDial & g guRl &) gam § i 3w gid &1 (Correct Alternative)
(B) O Only a few cities have job opportunities.

FS 8 R H ISR & AR ¢ |
(C) O Alljobs are available in all cities.

Tt At gaft TeR # Jues §
(D) O Salary in metro cities is always higher than small towns (Chosen Option)

He) T H I SHRM DI 6! B ga1 H 31 BT & (Chosen Option)

Question No. 7 / Question ID 394 Marks: 2.00
Which one is considered to be a good communication?
DI T TH 3BT TR T ST 82
(A) O Sender attacks receiver
U b RETAR TR GHAT BT
(B) O Receiver doesn't listen to sender
T d! UNH DI Tal A1
(C) O Sender is positive towards receiver (Correct Alternative)

ey & ufa dve IeRTES % (Correct Alternative)




(D) O Message is ambiguous (Chosen Option)
T 3Y § (Chosen Option)

Question No. 8 / Question ID 285 Marks: 2.00
Jobs that have become outdated in the past 5 years....
......... e S frsd 5 auf # R 8l TE B
(A) O STD booth (Correct Alternative) (Chosen Option)
STD §Y (Correct Alternative) (Chosen Option)

(B) O ola

(C) O swiggy
Swiggy

(D) O uber
JR

Question No. 9 / Question ID 431 Marks: 2.00
In Excel, the intersection of a row and column is called a
TR H, fedt A (dfa) iR Biad (WY) & SR (GfdeT) B ... HEI A g |
(A) O worksheet
CERI
(B) O label
SER!
(C) O cell (Correct Alternative) (Chosen Option)
I (Correct Alternative) (Chosen Option)
(D) O square

NI
Question No. 10 / Question ID 345 Marks: 2.00
The word 'when' denotes
Teg 'when (T9) DI G-MAT §
(A) O time (Correct Alternative)
HHY (Correct Alternative)
(B) O thing

oo e WWW.globalitl.org
D) O F_;g%f”

Question No. 11 / Question ID 308 Marks: 2.00
Fill in the blank with correct word. “They good friends”
Yo o 981 Weg 1R | “They good friends”
(A) O was
was
(B) O am
am
(C) O are (Correct Alternative) (Chosen Option)
are (Correct Alternative) (Chosen Option)

(D) O is

is

Question No. 12 / Question ID 289 Marks: 2.00
..... is a brief statement about purpose and principles of the Constitution.

..... Tfaem & I SR Rigial & IR H Iferd fgavor g |




(A) O Syllabus (Chosen Option)
Ul H (Chosen Option)
(B) O Unit
IPTS
(C) O The Preamble (Correct Alternative)
YXATAAT (Correct Alternative)
(D) O Module
AU

Question No. 13 / Question ID 508 Marks: 2.00
What does 'M' stand for in SMART goal?
SMART @&d & 'M' &1 T 31f g7
(A) O Measurable (Correct Alternative) (Chosen Option)
Measurable (Correct Alternative) (Chosen Option)
(B) O Memorable
Memorable
(C) O Manageable
Manageable
(D) © Meaningful
Meaningful

Question No. 14 / Question ID 435 Marks: 2.00
In which orientation, the text is printed length wise?
forg aiiftueer (3fifa=amg) §, ¢we (Ure) o R fiie (gfed) giar 82
(A) O Landscape (Chosen Option)
' (Chosen Option)

(B) O Margin
BIIcE]

(C) O Portrait (Correct Alternative)
ﬁé‘t’ (Correct Alternative)
(D) O Width

EISH

Question No. 15/ Question ID 392 Marks: 2.00

Which one is a good communication?
B I TH ST TR g7
(A) O Receiver doesn't listen to sender

Tl U DI Tal A1
(B) O Sender attacks receiver

USeh b1 RETER TR GHAT BT
<) O Message is clear and direct (Correct Alternative) (Chosen Option)

HT TP 3R Y BT (Correct Alternative) (Chosen Option)

(D) O Message is ambiguous

T BT 3RAY BT

Question No. 16 / Question ID 286 Marks: 2.00
21st century workplace skills help you to get employed......
213 &t & PRI DI SMUDI ASHR UH & TG PR G.......
(A) O only with higher qualification (Chosen Option)
3 ITAT & 1Y (Chosen Option)
(B) O very difficult
9gd Bid
(C) O even job market keep changing (Correct Alternative)

gl a@ & Sifq ATdhe ft 9Gadr T8dT § (Correct Alternative)




(D) O only when market is growing
Had old ST9IR 9¢ 381 §

Question No. 17 / Question ID 293 Marks: 2.00
1st industrial revolution started in.....
Tgl SN wifd & Leemd ... |
(A) O 18th century (Correct Alternative) (Chosen Option)
18 & I} (Correct Alternative) (Chosen Option)
(B) O 19th century
19 df ¥dl
(C) O 20th century
20 df gdl
(D) O 21stcentury

21 df T

Question No. 18 / Question ID 433 Marks: 2.00
In MS Excel, to insert a formula in cell, we must begin the entry with an operator

T TR 7, I A U T SC Hﬁ%ﬁ)ﬁﬁ%%ﬁ S UafP &1 Teh TR P 1Y TR= B A1ieT -
(A)O $
© $
B)O @
€O

(D) O

@

(Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

HIFE 00

Question No. 19 / Question ID 309 Marks: 2.00
Fill in the blank with present progressive tense of the verb. “The train through the tunnel’
fopar & gfam wfasita ®1a & Tr fRad RIM W11 “The train through the tunnel”

(A) O was passing (Chosen Option)
was passing (Chosen Option)
(B) O passed
passed
(C) O had passed
had passed

(D) O is passing (Correct Alternative)
is passing (Correct Alternative)

Question No. 20 / Question ID 427 Marks: 2.00
CPU consists of
CPUH ... Bag!
(A) O Control unit and ALU (Correct Alternative)
gfre (T 59T1%) 3R T.Ua.g, (Correct Alternative)
(B) O Storage device and ALU (Chosen Option)
ﬁTQ.QFT.?{L (Chosen Option)

(C) O Input device and control unit

$Ye f$a1gy $R sl gfie (R g8
(D) O Input and output devices

ZYe 3R 33eye fearsy

Question No. 21 / Question ID 350 Marks: 2.00
are the qualities that are considered negative, and need to be worked on.

T 701 § oI THRISTS AT ST § 3R 5 IR BT 61 & el g |




(A) O Opportunities
Hidb

(B) O Personal weaknesses (Correct Alternative) (Chosen Option)
HfHRITd HHSIAT (Correct Alternative) (Chosen Option)
(C) O Personal Strengths
fTd dlehd

(D) O Threats
YHbI

Question No. 22 / Question ID 410 Marks: 2.00
Gender stereotypes can be.........

e \WWW. lobalitl.org

fcricd faeTy
(B) O playful
EEK!
(C) O harmful and hurtful (Correct Alternative) (Chosen Option)

g R® MR §ET:."Rﬂ (Correct Alternative) (Chosen Option)
(D) O cheerful

Kl

Question No. 23 / Question ID 367 Marks: 2.00
Which among these are not good manners while travelling by public transport?
T4 9§ B 1 Gdeld URTg § A A I 3wy RITER T8 67
(A) O Be polite to fellow passengers and staff.
Tt At SR FHHEal & ufd faw 38 |
(B) O Follow the instructions of the cabin manager.
TR & FERI &1 ured |
(C) O Push back our seat without checking with the person on the back seat (Correct
Alternative) (Chosen Option)

fUodt e w38 aafqa A & fu fomm surdt Jdie P 1Y ydbd (Correct Alternative)
(Chosen Option)

(D) O Speak in a low voice.
et 3fraret H e |

Question No. 24 / Question ID 373 Marks: 2.00
For “SMART” Goal, S stands for
“SMART” @ & folT, S &1 AATA.................. g
(A) O strength
strength
(B) O specific (Correct Alternative)
specific (Correct Alternative)
(C) O scientific
scientific
(D) O social (Chosen Option)
social (Chosen Option)

Question No. 25 / Question ID 337 Marks: 2.00
can help me learn English.
T 3T Whaq ® Hag &R Iodl |
(A) O dedication (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

“  www alobaliti ora

HIY




(C) O fear
S}
(D) O shyness




